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It was necessary only for the wife of a Kohain  — 3775 nwX2a K973 R?

OVERVIEW

The X3 asked why does 71v%& " rule that if a husband claimed >n&kx» mino rnd she
is forbidden to him, since it is (merely) a X950 P90, it may have not been 1°’nfn and
it may have been 011%2. The X723 answered that X1 was discussing an 372 nWX who
is 77¥2% 7oK even if it was 01IX3, so therefore, since there is only one P90, we are
7°rn. Our MBI explains why we are 7 ann.

nvoIn asks:
— Zm;30% PRND INTT N1 103199 AW NOAY DNRPINN NNIPI 9NN ON)

And if you will say; but let us place her on her presumptive status that she is
fit for 721772 and therefore let us say that she was not 772 while she was married
to him, but rather she was 71t before the PoI1X, so she is permitted to her husband the 1772.

MDoIN answers:

1A% NHYNY 3‘]1)7! NPINNR NIPINT NHYA) RNYNIT 999199 10 5HONR NAYIRT 9990 v
And one can say; on the contrary we should assume that she was 17v21 now (as
recently as possible before the 7Xw1) since we should place her on the 7P of
her body that she was a m77na.

SUMMARY
The 7137 NP1 s stronger than the MWD NP,

THINKING IT OVER

1. Mmoo asks that she should be 3773 7925 NN since she has a 71975% MAw> npm.*
Why was it necessary for ms01n to mention the 711337 MWD npii, he could have
simply said she has a M wa npm?!°

! This woman had a 71732 mAw> npin before this claim of mno nno (in fact she was 172% NwTpPn), therefore since
there is a P90 whether she was 1°nnn 71 or not, her MW NP1 should resolve the Po0 (that she was not 1nnn 7317,
and) that she should continue to be 7117757 NN as her status was before the P50 arose. See ‘Thinking it over’ # 1.
' A woman becomes a 77 and is 70799 70K only if she is 7 91097 72v21 (if she is 70K to the 7312 because she is
an ¥°X NWX as in our case or because he is a 7mn or her relative, etc.) but not by a 71”1977 ¥ X277 "D,
3 She was born a 77103, and since we do not know when this status changed, we assume that until we know for
certain that her status changed, she retains her initial status as a 719103, therefore since we first became aware of her
change in status now (when the husband made this claim), we assume that she retained her 717102 status up to the last
moment when we need to assume that her status changed (some time immediately prior to this claim of mn» rnd
while she was 1°nrn). See “Thinking it over’ # 2.
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2. MP0IN answers that she has a M7 NP that she was a 791n2.° However there is
also a contradictory 77 npin that she is now a 72w32, we should therefore assume
on account of this Xnwn7 P that she was a 7792 all the time in the past (even
before the 1w17°P) until we know for sure that she was a 79102, This XnWnT pm
(which indicates that she was 7>¥21 before the 1w17p) should combine’ together
with the 72370% Mw> npn to override the (X7p°¥17) 7137 NP1 that she was a 717102
(xnwi 7v), and permit her to her husband!®

* See footnote # 1.
> See 71 MK 7"210 and 71 MK P 0779, (See following X1 7"7 '01n footnote # 4.)
% See footnote # 3.
" Even if we usually maintain that a X7p°yn7 7pin (like the 72102 npi) is stronger than a Xnwi7 7P (that a9wa
119Y), nevertheless combined with the 71175% N1 w> npr the Xnwi7 aptn should overpower the RAp>ynT AP
¥ See "1 and 027K NPX.
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